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& 1 [ [0 30. 0] 18.733 6. 6. 04 12. 69 17
EE - 2 _|ARET3TH 30.0] 17.230 5. 60 11.63 5.33 11.90 27
ENEE 3 |[XEHR2TH 30.0] 15.105 5. 02 10. 09 4. 62 10. 49 40
L) 1 | FAm2TH 25.0] 13.387 4.51 3. 88 4.15 9. 24 36
AT 2 [BnAErT 7.9] 14.595 4. 46 10. 14 4. 11 10. 49 35
L) P S NEL 25.0] 14.955 5. 27 9.69 4. 77 10. 19 50
Bl 7 1 [EEm2TH 25.0] 13.521 5.23 8.29 4. 77 8.75 46
BH 78 2 |ian 30.0] 14.068 5.15 8.92 4. 65 9. 42 50
BH 78 3 |¥RJANT 21.5| 13.813 5. 80 8.01 5. 24 8.57 56
B 7 4 [EEEET 30.0] 13.041 5. 33 7.71 4.73 8.31 60
B B 1 [Erm2TH 30.0] 11.358 4. 47 6. 89 3.83 7.53 64
B P 2 | EZRHT 30.0] 12.290 5. 683 6.61 5. 00 7.29 68
Gl 3 |#pEuT2 T H 6.3] 11.639 4. 42 7.22 3.84 7.80 58
RS 1 [EEMT4TH 30.0] 13.032 6. 20 6. 83 5. 56 7.47 64
i Ak 2 |ERNTITH 20.0]  9.897 2.89 7.01 2. 46 7.44 43
i Ak 3 |&EIT10T H 20.0]  9.889 2.97 6.92 2.50 7.39 47
RS 4 |[&EFE9TH 20. 0] 10.196 3. 60 6. 60 3.12 7.08 48
RS 5 |FuEHT3 T H 20.0]  9.996 3.16 6. 84 2.69 7.31 47
ERT 1 [&4&m2TH 30.0] 11.852 5. 11 6. 74 4. 45 7.40 66
E] 2 IEREHT3 T H 30.0] 11.962 5. 43 6.53 4.76 7.20 67
T 1 [EHE3TH 25.0] 10.511 4. 45 6. 06 3.70 6.81 75
S 2 [VEER2T H 30.0] 10.780 4,42 6. 36 3.72 7.06 70
HE B [ 3 [HTAER2 T H 30.0] 9.739 — — 3.53 6.21]  —

HE Py | 4 [FEDM2 ] H 30.0] 10.828 — — 4. 20 6.63] —

i 5 [ZHEHET4T H 20. 0] 10.398 4.61 5. 79 3. 88 6.52 73
NI 1 | EHET7TT B 8. 0] 13.445 5. 50 7.95 5. 22 8.23 28
NI 2 |BERET2T H 30.0] 12.130 4.72 7.41 4.39 7.74 33
ENIE 3 |5 RHT2T H 25.0] 12.390 4.55 7.84 4.12 8. 27 43
KK 1 |[BEEEIT3T H 30.0] 12.527 5. 02 7.51 4. 54 7.99 48
KK 2 |51 H 6.0 11.156 4. 50 6. 66 3.95 7.21 55
S 3 [WEFIET3T H 30.0] 10.953 4. 30 6. 65 3.72 7.23 58
NS 4 [FEFIET2 T H 7.9] 10.876 3.97 6.91 3.39 7.49 58
NS 5 |=rERT2 ] H 8.0] 10.910 4.23 6. 683 3. 62 7.29 61
KK 6 [#EPEITIT H 30.0] 11.806 4. 52 7.29 4.10 7.71 42
NS Tl EEEED 6.1] 10.944 4. 04 6.90 3. 62 7.32 42
K E 2 |grmmy 30.0] 10.523 3.79 6.73 3.48 7.04 31
K IE 3 &S 6.5] 10.370 3.99 6. 38 3.72 6. 65 27
K E 4 |#ERT9 T H 20.0]  9.122 3. 38 5. 74 2. 86 6. 26 52
K E 5 |[ARHESR HE9T H 20.0] 8.712 3. 41 5. 30 2.381 5.90 60
NI 6 [WHELITH 6.5 10.181 4.03 6. 15 3.70 6. 48 33
# 1 | ETE 25. 0] 10.279 4. 39 5. 89 4. 24 6. 04 15
BB 2 |8 25.0]  9.495 3.70 5. 80 3.45 6. 05 25
B 5 3 BT 27.0]  9.394 3. 62 5. 77 3. 36 6.03 26
= 4 |85 )15 20. 0] 10.167 4. 66 5.51 4,47 5. 70 19
B 5 5 |JLI%2 T H 30.0] 8.673 3.90 4. 77 3.65 5. 02 25
55 6 |3 T B 25.0]  9.021 4.49 4.53 4.23 4.79 26
i 1 [/ HEATH 30.0] 8.658 3.13 5.53 2.75 5.91 38
iR 2 |31 H 25.0] 8.368 3.32 5. 05 2. 77 5. 60 55
i 3 |5ZE2T H 25.0] 8.327 3.78 4.55 3.29 5. 04 49
i 4 [3mMEE2T H 22.0] 8.238 4.06 4.18 3.39 4. 85 67
il 5 |ZEE3TH 30.0]  7.443 4.70 2.74 4.08 3. 36 62
il 6 [mmET1TH 20.0]  8.201 — — 3. 46 1. 74 —

il 7_|hifEs T B 25.0]  9.096 — — 3.65 5.45]  —

i 8 |FP&aRE2TH 25.0]  7.755 — — 3.59 117 —

i 9 [mHmFE2T H 30.0] 7.394 — — 2.98 1. 41 —

M i | 10 |BgHELT H 30.0]  8.009 — — 3.61 440 —

m B 11 [TABE3TH 30.0]  7.928 — — 4. 36 3.57  —

W i | 12 |EHrEs 1 H 30.0]  7.910 — — 3. 62 14.29] —

i 48 | 13 |7HE1] H 30.0] 8.628 — — 3.24 5.39]  —

T 4 | 14 JLd2T H 30.0] 7.728 — — 2.83 4,90 —

i 4% | 15 |5%a41 H 30.0] 8.147 — — 3. 44 1. 71 —

i 4% | 16 755371 H 30.0]  7.495 — — 4. 11 3.39]  —

— H 1 [IEAN8TH 25.0] 9.291 3.69 5. 60 — — —

= H 2 [ AEEITH 30.0]  9.037 3.52 5. 52 2. 82 6. 22 70
— H 3 =1 T H 30.0] 8.510 3.26 5. 25 2. 54 5.97 72
— H 4 [7S&mM3 T H 25.0]  7.927 3.35 4. 58 2.50 5. 43 85
— H 5 |A~"ZmLITH 7.0 9.171 3.85 5. 32 2.98 6.19 87
— H 6 [NEAHITH 40.0]  8.747 6.00 2.75 — — —

— H 7 [ A~EKESTH 20.0]  7.308 3. 44 3.87 2.43 4. 88 101
= B 8 |7&EMIT H 30.0]  7.748 — — 2. 44 5. 31 —




Y

i

— H 9 [IEART3 T H 6.8]  9.525 — — 2.93 6.60]  —
— H | 10 |[JNEJLE3T H 30.0]  7.802 — — 2.92 4.88]  —
ST 1 D EokRET2 T H 6.8]  9.865 3.85 6. 02 3. 14 6.73 71
piNETE 2 D ARHTS T H 8. 1] 10.994 5.13 5. 86 4,29 6. 70 84
piNETE 3 Dingipi T4 T 6.0]  9.362 3. 86 5. 50 3. 00 6. 36 36
JELES 1 ngAskiEiT1 T H 6. 1] 10.662 5.07 5. 59 4.19 6.47 88
LR 2 IngrE A1 T H 8. 1] 10.570 4.53 6.04 3.75 6.82 78
S 3 s HIT2 T H 30.0] 10.315 4. 87 5. 45 4.00 6. 32 87
JELES 4 oK T 7.7] 10.436 5.07 5.37 4.19 6. 25 88
JELES 5 [ngpe FLET2 T H 6.3]  8.857 3. 77 5.09 2. 85 6.01 92
B 6 At 2 RHET 30.0]  9.660 4.76 4.90 3.84 5. 82 92
I T EIE:S 23.0] 10.699 5.10 5. 60 4. 43 6. 27 67
I EINIES 25.0]  9.713 4.35 5. 36 3.56 6. 15 79
El 3 | BB FLIT 20.0]  9.581 4. 88 4.70 3.97 5.61 91
ElZ M EIESEN: 7.0/ 9.388 4.12 5. 27 3 % — —
= i 5 |19 H 26.0]  9.132 5. 39 3.74 4. 48 4. 65 91
I 6 [mBEmT 30.0]  9.566 — — 3.49 6.08] —
El 7 _|sEF3TH 30.0] 10.139 — — 3. 64 6.50]  —
&M 1 [dE—&9TH 6.0] 10.816 1.05 0.77] H & — —
EZRVE 2 [JE—®5T H 25.0] 10.428 1.73 8.70 1.63 8. 80 10
E&dL 1 |gi 2T H 25.0] 14.037 3.19 10. 85 3.00 11.04 19
EZ 2 |17 H 34.0] 11.056 — — 1.57 9.49]  —
EHE ESNEE 25.0] 17.765 4.01 13.76 3.37 14. 40 64
EZrm 1 [fmme T H 25. 0] 10.247 — — 2.78 747 —
EZrm 2 |93 T H 25.0] 10.812 — — 2.39 8. 42 —
E& 3 DEEi7 T H 30.0] 11.758 — — 1.87 9.89]  —
E& 4 |Epi6 ] B 30.0] 11.846 2.52 9.33 2.22 9.63 30
E& 5 A I 25.0] 11.347 4. 77 6. 53 4.31 7.04 46
il 1 P RELI T H 6.9  9.452 4,58 4. 87 3.65 5. 80 93
il 2 [PEEEKEF2 T H 8.0  9.087 4. 39 4.70 3.45 5. 64 94
il 3 |HEE =2 T H 25.0]  7.765 3.91 3. 86 3. 02 4.75 39
il 4 | SRS 3T H 25.0]  8.324 5.16 3.16 4.15 4,17 101
7 5 |PEEARAR2 T H 25.0]  8.447 — — 3. 28 5. 171 —
il 6 [PEEs# a1 H 30.0]  8.991 — — 4. 54 445 —
= T EEINEE 25.0]  6.671 3.22 3.45 2.19 4. 48 103
S 2 |Pas3 ] H 30.0]  6.959 4. 41 2.55 3. 46 3.50 95
S 3 |/a556 ] H 30.0]  6.833 3. 80 3.03 2.99 3.84 81
S 4 3T H 30.0]  7.733 — — 3.48 4.25] —
S 5 |[HZE2T H 30.0]  7.414 — — 2. 82 4,59 —
= 6 |PZE3 ] H 30.0]  7.032 — — 2.69 1,34 —
= 7 |mazEl T H 30.0]  8.580 — — 4. 46 1. 12 —
H &L 1 |HE R 30.0]  5.818 3.29 2.53 — — —
ERERIR PN 30.0] 7.684 4.33 3.35 3.79 3.89 54
H &L 3 |H®EIL4TH 42.0]  5.850 — — 2. 44 3. 41 —
H B I EEZST 7.0] 22.965 4. 13 18.84 3.02 19.95 111
I HLE L [RRAMIT H 34. 593 3.75 30. 84 2.79 31.80 96
I HLH 2 rREWMTH 9. 7] 34.221 4. 64 29. 58 4. 05 30. 17 59
Jr A H 3 _UrR2TH 9.7] 33.980 8. 40 25. 58 7.84 26. 14 56
= 1 amErEl T H 5. 1] 30.241 3. 40 26. 84 3. 43 26. 81 -3
E B 1 |ER 30.0] 17.914 4. 65 13.26 4. 36 13.55 29
E B 2 _|[ER 30.0] 17.788 — — 4.92 12.87] —
E B 3 _|EE 20.0] 17.645 — — 4.97 12.68] —
EBEE 1 |[EBEHYAI 30.0] 18.814 5. 34 13.47 4.97 13.84 37
EBEE 2 | EEFEH 30. 0] 20.093 5.11 14.98 4.79 15. 30 32
EBEE 3 e HRIT3 T H 6. 1] 21.891 4. 46 17.43 3.99 17.90 47
EBEE 4 |T)IJE4A T B 7.0] 23.779 4. 46 19. 32 4.03 19. 75 43
EBEE 5 |[EHETE 6.0 27.124 5. 70 21. 42 5. 69 21.43 1
EBEE 6 |EHEREK 30. 0] 19.965 — — 4. 46 15. 51 —
EBEW I |[EB®mYH3ITH 8. 1] 17.253 4,81 12. 44 4. 54 12.71 27
EBREW 2 |®JEHET1IT H 30.0] 17.322 5. 14 12.18 4. 87 12. 45 27
EBEW 3 |tEErENT 30.0] 16.291 — — 4. 26 12.03]  —
EBEW 4 |mJRET2 T H 30.0] 16.644 — — 4. 22 12.42]  —
EBEW 5 |fdlT2 T H 30.0] 16.997 — — 4.63 12.37]  —
EBEW 6 [J\{X2 T H 7.9] 17.170 — — 4,57 12.60]  —
(B 0| 1 |FiEAR 30. 0] 13.520 1. 16 9. 36 1. 00 9. 52 16
CE 0 [ 2 BTy 6.0] 13.975 3. 63 10. 30 3,38 10. 60 30
B 3 ESEERNE] — 15. 400 4. 24 11.16 3.92 11.48 32
B 4 %m%ﬂm — 14. 134 4. 22 9.91 4.07 10. 06 15
B 5 %"MTH 30.0] 15.080 3.43 11. 65 3.12 11.96 31
2 H [ IAMTAT o 6.5] 15.688 — — 4. 83 10.86] —
2 H 2 _DEFr2TH 6.4] 14.158 — — 4.18 9.98]  —
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H W 3 |[EEEHETIT H 30. 0] 14. 446 — 4. 12 10.33] —
H 4 |[ZEE3TH 30.0] 16.512 — — 4. 88 1.63] —
o 1 [EHEITH 30.0] 15.985 — — 4. 35 11.64] —
W AE 2 [ EFE2TH 30.0] 15.019 — — 4.01 1.0l —
H] & T EIES 5.8] 12.412 3. 36 9.05] & — —
H] & 2 |HIJE g 30.0] 13.978 4,37 9.61 4.10 9. 88 27
H] & 3 |HEHT 6.4 15.323 4. 99 10. 33 4. 65 10. 67 34
H] & 4 [HIRFIT H 30. 0] 14.024 — — 3.92 10.10]  —
5 e 30.0] 10.884 3.70 7.18 3.48 7.40 22
5 2 [dEE 30.0] 11.451 3.85 7.60 3. 60 7.85 25
5 3 _[wh/ FET3TH 8.0 13.771 4,83 8.94 4. 62 9.15 21
5 4 [iro 30.0] 11.552 4.63 6.92 4. 52 7.03 11
5 5 |'=4A3TH 6.8] 11.620 — — 4. 45 717 —
= 6 [dbE5 T H 30.0] 11.583 — — 3. 16 8.42]  —
= 7 [EE3TH 30.0] 11.642 — — 3.61 8.03]  —
5 8 [BE/E2TH 30.0] 11.125 — — 3.00 8. 13 —
5 9 &AL TH 30.0] 11.089 — — 3.67 7.2 —
= 10 [dkE1TH 30.0] 11.188 — — 3. 27 7.92]  —
] 1_|HJHI5 T H 30.0] 14.465 — — 4. 88 9.59] —
AL 2 |H/ B=mi2]T H 30.0] 12.714 — — 4. 02 8.69] —
A 3 | EWENT3T H 30.0] 12.421 — — 3.35 90.07]  —
A 4 |[AZEE5 T H 7.8] 12.713 — — 3.8l 8.90] —
SFmEIE] 1 [EWHELIT H 25.0] 23.974 6.21 17.76 5.92 18.05 29
e B 1 [ =HH 20. 0] 22.378 5. 84 16.54 5. 56 16. 82 28
= B 2 |EI1TH 30.0] 18.663 — — 5. 16 13.50]  —
K H 1 ekl 25.0] 13.837 4.17 9. 67 4.03 9.81 14
X H 2 |FdE sl 2 W 25. 0] 12.144 — — 2.61 9.53]  —
X H 3 | KH5T H 30.0] 12.242 — — 2.36 90.83]  —
K H 4 |[RH 20. 0] 13.260 4,31 8.95 4. 04 9.22 27
£ 1 [Edkm 27.0] 14.324 — — 3.33 10.99] —
£ 2 | XLt 30.0] 13.551 — — 3.73 9.82]  —
£ 3 /hradr2T H 30.0] 16.778 — — 4.90 11.83] —
£ 4 DIE3 T H 30.0] 11.827 — — 2.65 9.18]  —
£ 5 | ERE/\iE 30.0] 13.633 — — 3.45 10.18] —
oy 1 |[#=25 T H 30.0] 22.765 10. 00 12. 77 — — —
o 2 | TS 25. 0] 16.984 5. 30 11.68 4.75 12.23 55
oWy 3|3 7.0 13.735 2.39 11.35 2. 11 11.63 28
HOBy 4 |HEYFE3T H — 12. 697 2.24 10. 46 2.10 10. 60 14
oy 5 |# FolT 25.0 | 14.373 — — 3.26 1L 1] —
HOBy [l ETiva 7.0 12. 740 — — 2. 05 10.69] —
H O 7 _|R=WH2T H 30.0 | 13.881 — — 2.18 .70 —
oWy 8 [R==Jk2 T H 30.0 | 13.585 — — 1.84 11.75]  —
HOy 9 |hhimEs 30.0 | 12.159 — — 1.92 10.24]  —
S 1 |5 T H 30.0] 23.313 10. 00 13.31 10. 22 13.09 —22
S 2 /5T H 30.0] 18.623 6.61 12.01 6.01 12.61 60
S 3 /N2 T H 30.0] 17.569 4. 84 12.73 4. 34 13.23 50
05 & RS 30. 0] 19.404 2.72 16. 68 2. 57 16.83 15
EIEAY 1 |WERKIR2T H — 29. 127 4. 06 25. 07 3. 50 25. 63 56
IR 2 [BGK 30.0] 35.083 2.95 32.13 2.76 32.32 19
| 3 [HifR4T H 7.4] 37.638 0. 80 36.84] 3 & — —
o I 1 | -HTH 20. 0] 11.446 5.35 6. 10 5. 19 6.26 16
o I 2 [FFH3TH 25.0]  9.328 3. 50 5.83 3. 28 6. 05 22
o I 3 |TE 30.0]  8.439 3.59 4. 85 3.32 5.12 27
& IE 4 [EFRE 30.0] 11.079 — — 2.30 8. 78] —
— il 1 [JEEdE 30. 0] 41.939 1.80 40. 14 — — —
—Himdb 2 [JEEF R 8.4 41.093 5. 26 35. 83 4. 89 36. 20 37
— Hi 1 [RES LA ZIE — 32.341 4,42 27.92 4,25 28. 09 17
Bl 1 |[niy aidm — 30.523 5.51 25. 01 5. 08 25. 44 43
B 2 e EA 30. 0] 32.953 2. 76 30. 19 — — —




